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QUESTION 1

A storage engineer requires a solution that achieves multiple paths between a server and storage array. The design
must support complete traffic isolation and support a 50% growth in the next year.

Which FCoE solution meets these requirements?
A. single switch with multiple links

B. at least two VSANSs across the fabric

C. at least two FC zone sets with multiple zones
D. single VSAN across the fabric

Correct Answer: B

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/mds9000/sw/5_2/configuration/guides/dmm/dm
mcfg/toplgy.html

QUESTION 2

A company purchased a Cisco UCS system with four 5108 Chassis populated with UCS B-Series servers. The
environment consists of nine Cisco HyperFlex rack servers. An engineer must provision virtual machines using an
orchestration tool to optimize overall deployment time.

Which orchestration must be used to meet this requirement?

A. Cisco Intersight

B. Cisco DNA Center

C. Cisco AppDynamic

D. Cisco Network Assurance

Correct Answer: A

QUESTION 3

A Cisco engineer is configuring MPLS VPN BGP at a customer site that is connected to the provider site by more than
one path MPLS VPN BGP Local Convergence link protection is enabled. After the engineer installs the main forwarding
path and the redundant backup path within the BGP, they assign a unique route distinguisher to each VRF table on all
PE devices that serve as a backup to the link. What is a prerequisite for this local convergence to work?

A. Interautonomous system option A (back-to-back VRF) is active.

B. BGP must support lossless switchover between operational paths
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C. IP/GRE is enabled.
D. The system is performing a PE-CE link protection on both ends

Correct Answer: D

QUESTION 4

An engineer must choose the World Wide Port Name for the Cisco UCS Fibre Channel virtual host bus adapter. Which
identifier must be used?

A. naa.600a09840691712159764d
B. fe80::314e:4566:8702:bf3d

C. ign.2021-08.com.acme:3xxx

D. 20:00:00:25:B5:97:c3:ac

Correct Answer: D

QUESTION 5

Which orchestration tool should be used for the management and analytics of servers across multiple sites?
A. Cisco Intersight

B. Cisco Nexus Fabric Manager

C. Cisco UCS Manager

D. Cisco Data Center Network Manager

Correct Answer: A

Reference: https://www.cisco.com/c/en_in/products/servers-unified-computing/intersight/index.html
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